

Riemann Hypothesis

shekharsuman068

August 2019

1 Abstract

The Proof involves Analytic Continuation of the

Riemann Zeta function expressed as a Hadamard Product

Later, since $|\zeta^*(\sigma+it)|$ is increasing for $0 < \sigma < 1$, thus, we get a proof of the Riemann Hypothesis.

The Analytic Continuity of Riemann Zeta – function

over $0 < \text{Re}(s) < 1$ defined as a Hadamard Product [1] is,

$$\zeta(s) = \frac{\pi^{s/2} \prod_{\rho} (1-s/\rho)}{2^{(s-1)} \Gamma(1+\frac{s}{2})}$$

Let, $s = \sigma + it$

and $\rho = a + ib$.

Let, $\kappa = \eta + it$.

let; $\sigma < \eta$.

$$\zeta(\sigma + it) = \frac{\pi^{(\sigma+it)/2} \prod_{\rho} (1-(\sigma+it)/\rho)}{2^{(\sigma-1+it)} \Gamma(1+\frac{\sigma+it}{2})}$$

using $|\pi^{it/2}| = |e^{it/2 \ln(\pi)}| = 1$.

$$|\zeta(\sigma + it)| \leq \frac{\pi^{\sigma/2} \prod_{\rho} (1+(\sigma^2+t^2)^{1/2}/(a^2+b^2)^{1/2})}{2^{((\sigma-1)^2+t^2)} |\Gamma(1+\frac{\sigma+it}{2})|}$$

$$|\zeta(\sigma + it)| \leq \frac{\pi^{\sigma/2} \prod_{\rho} (1 + (\sigma^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((\sigma-1)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\sigma+it}{2})|}$$

Since, $\sigma < \eta$.

$$|\zeta(\sigma + it)| < \frac{\pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((1-\sigma)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\sigma+it}{2})|}$$

$$|\zeta(\sigma + it)| < \frac{\pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((1-\eta)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\sigma+it}{2})|}$$

$$|\zeta(\sigma + it)| < \frac{\pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((\eta-1)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\sigma+it}{2})|}$$

$$|\zeta(\eta + it)| < \frac{\pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((\eta-1)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\eta+it}{2})|}$$

$$|\Gamma(1 + \frac{\eta+it}{2})| = |\int_0^{\infty} e^{-x} x^{(\eta+it)/2} dx|$$

$$|\Gamma(1 + \frac{\eta+it}{2})| \leq \int_0^{\infty} e^{-x} x^{\eta/2} dx$$

$$1/|\Gamma(1 + \frac{\eta+it}{2})| \geq \int_0^{\infty} e^{-x} x^{\eta/2} dx$$

$$-1/|\Gamma(1 + \frac{\eta+it}{2})| \leq -\int_0^{\infty} e^{-x} x^{\eta/2} dx$$

So,

$$-|\zeta(\eta + it)| \leq -\frac{\pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((\eta-1)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\eta+it}{2})|}$$

$$|\zeta(\sigma+it)| - |\zeta(\eta+it)| \leq \frac{\pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((\eta-1)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\sigma+it}{2})|} - \frac{\pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})}{2((\eta-1)^2 + t^2)^{1/2} |\Gamma(1 + \frac{\eta+it}{2})|}$$

$$|\zeta(\sigma + it)| - |\zeta(\eta + it)|$$

$$\leq \pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2}) / 2((\eta - 1)^2 + t^2)^{1/2} [1/|\Gamma(1 + \frac{\eta+it}{2})| - 1/\int_0^{\infty} e^{-x} x^{\eta/2} dx]$$

$$\leq \pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2})$$

$$/ 2((\eta - 1)^2 + t^2)^{1/2} [1/|\Gamma(1 + \frac{\eta+it}{2})|] \leq \pi^{\eta/2} \prod_{\rho} (1 + (\eta^2 + t^2)^{1/2} / (a^2 + b^2)^{1/2}) / 2((\eta - 1)^2 + t^2)^{1/2}$$

$$\begin{aligned}
&\leq \phi[\int_0^\infty e^{-x}x^{\sigma/2}(\cos(t \ln x/2))^2]^{1/2}dx \\
&\leq \phi[\int_0^\infty e^{-x}x^{\sigma/2}(\cos(t \ln x/2)]dx \\
&\text{now,} \\
&-\int_0^\infty e^{-x}x^{\sigma/2} \leq \\
&\int_0^\infty e^{-x}x^{\sigma/2}(\cos(t \ln x/2 \\
&\leq \int_0^\infty e^{-x}x^{\sigma/2}dx \\
&1/\int_0^\infty e^{-x}x^{\sigma/2}(\cos(t \ln x/2 \leq -1/\int_0^\infty e^{-x}x^{\sigma/2}dx \leq 0
\end{aligned}$$

$$|\zeta(\sigma + it)| - |\zeta(\eta + it)| \leq 0$$

$$\sigma < \eta, \text{ implies } |\zeta(\sigma + it)| \leq |\zeta(\eta + it)|$$

thus, $|\zeta(\sigma + it)|$ is Monotonically Increasing w.r.t. σ .

So, $0 < \sigma \leq 1/2$ implies

$$|\zeta(\sigma + it)| \leq |\zeta(1/2 + it)|$$

and $1/2 \leq \sigma < 1$, implies

$$|\zeta(1/2 + it)| \leq |\zeta(\sigma + it)|$$

So, $|\zeta(\sigma + it)| \leq |\zeta(1/2 + it)| \leq |\zeta(\sigma + it)|$, $\sigma \in (0, 1)$

also, $|\zeta(\sigma + it)| = 0$ $\sigma \in (0, 1)$

hence ,

$$|\zeta(1/2 + it)| = 0$$

Hence all the zeroes lie on the line $x = 1/2$

2 References:-

1. On the Riemann Hypothesis and its generalizations- Daniel E. Borrajo Gutierrez (2018).
2. Titchmarsh- The theory of Functions .
3. Kevin Broughan - Equivalents of the Riemann Hypothesis : Arithmetic Equivalents.
4. Lars Ahlfors - Complex analysis [3 ed.] McGraw -Hill 1979.
5. Tom M. Apostol - Introduction to Analytical Number Theory 1976.
6. Complex Analysis - Walter and Rudin 3rd Edition 1970.

7. <https://www.claymath.org/millennium-problems/riemann-hypothesis>.

8. A note on $S(t)$ and the zeros of the Riemann zeta-function -
DA Goldston, SM Gonek.

9. Ramanujan Summation- Springer, Bernard Candelgrapher.

Contact:

Shekhar Suman.

N.B.H.M. M.Sc. Scholar-2015-17.

I.I.T. Delhi M.Sc. (2015-17).

Email - shekharsuman068@gmail.com